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a5t 1.9% 4.3% 15. 2% 14. 4% 10. 7% 33. 0% 1.1% 15. 5% 3. 9%




&H

= T00. 0%
e 100. 0%
at 100. 0%
BRBEDRERRE
IF32
BE- &
IH4—t | 218 | &8
HE -2 | 1T (8 (E#t (F#t | %8 - | 18—+ -
HEE |mz-x|a-cx| 802 | 2LE | REZD | #r (5
(RiEit | feft2s | BAE100A [B4E100A | OESRH | EEE | 2F%x%
£58) &) LLF) LIE) g8 mE &E) Z Dt a5
En 3. 0% 0. 0% 0. 0% 0. 40 1. 0% “on T 0% T 30 T00. O}
B 5. 2% 14. 6% 24. 1% 36. 8% 14. 6% 5% 5% 3. 8% 100. 0%
&5t 4. 6% 12. 3% 27. 8% 37. 9% 13. 1% 5% 1.1% 2.7% 100. 0%
REICEATHEH - MESH
F5_1 XIS TS, EREREZFH TANLN
EEne | bEYH
BTirE | vosT | buin | TizEs | ok
3 F%E 3 L £ AR &
BT 0. 5% 22, 0 30. 1% T0. 10 o 0] 100 0%
= 6. 6% 18. 5% 35. 5% 17. 4% 22.0%  100. 0%
af 6. 6% 20. 3% 37. 3% 16. 8% 19.0%|  100. 0%

F5_2 BEMNTEH &, MERISESTIOFEEOS5VENE LT

Ebnl [ HFEYH
HTIFE | POHT | BWVAL | TEFESL | HTHEFE
Q) FFE5 L 7L 57 5Et
=L 10. 1% 28. 8% 35. 4% 2. 6% 11. 1% 100. 0%
B 9.7% 21. 2% 35. 0% 15. 2% 12. 8% 100. 0%
aF 9.9% 27. 9% 35. 2% 14.9% 12.1% 100. 0%




F5_3 EZFOEE, RE - FRICZDFAESLZVDIEFMREL

Etne | bEYH
ez | vosbT | buan | TizEs | ok
% F%E 3 L £ U AR &t
= 34, 0% YL 1. o0 0. 6% T.o0] 100 0%
B 33. 5% 45. 1% 14. 8% 4.7% 1.0%  100. 0%
I 33. 7% 41. 6% 16. 1% 6. 8% 1.8%  100.0%
F5_4 ZE1LHEZES. XIRBVOERZHBETRES
EbbdE | HBFEYDH
ez | vebT | b0an | TizEs | ok
% FE3 L A0 5750 &5t
= LT 30. 3% 36, 4% 29. 8% 2. 0% T.o0]  100.0%
e 36. 4% 35. 7% 24. 8% 1. 6% 1.6%  100. 0%
a8 33. 8% 36. 0% 27. 0% 1.8% 1.5%  100. 0%
F5.5 #ELE-oFHZR/RO>OEBERLERNTHD
Etne | bEYH
BTirE | vosT | buin | TizEs | ok
3 F%E 3 R £ AR &
=G 38, 0% 25, 80 27, 30 7. 0% Ton| 100, 0%
= 39. 3% 27. 6% 26. 5% 3.1% 3.5%  100. 0%
af 39. 1% 26. 8% 26. 8% 3. 5% 3.7%  100. 0%
F5.6 —AoF&YRBHNNBZHMNEELL
EEbl | HEYH
ez | vesbT | bunan | TizEs | ok
% FE3 L 0N AR &5t
= 50, 30 K 2. 10 T. 0% Ton 100,00
rEE 60. 5% 24. 0% 10. 5% 2.7% 2.3%  100. 0%
a5 56. 0% 26. 9% 12. 0% 2.0% 3.1%)  100. 0%
F5_7 FHIIFIMY THEIBOFZH# 1 AZEAEALRBRL
% FEZ | 6VAk | ClEES | HHL &5t
Enn 7 o0 5. o0 20 4% 210 . 100 0%
BT 4.7% 13. 7% 36. 7% 12.1% 32.8%  100. 0%
&5 4. 6% 10. 1% 38. 3% 13. 0% 33.9%  100.0%




F5_8 FEHTRREEMN, FELRIMINADLBVWKRYNLEETHD

EEnE | BEYH
HTlrE | vehT | H0EL | TixES | HorE
3 FE 2 0 L Py AR &t
= 82, 0% T0. 100 7.0 T. 0% T.o0| 100 0%
B 89. 5% 5. 8% 3. 9% 4% 4% 100. 0%
H 86. 7% 7.7% 4.2% 7% %[ 100. 0%
F1_1 @
1005 Mk [ 100~200 | 200~300 | 300~400 | 400~500 | 500~600 | 600~700 | 700~8007
L ; FEkE | Ak | FEk#E | FA%E | pAkHE | 5EAkE | Ak
= 7. 3% 21. 3% 10, 8% T0. 0% T3, 0% 7. 0% 3. 0% T. 5% T. 0%
BT 12. 3% 14. 2% 25. 7% 13. 8% 15. 3% 8. 8% 5. 4% 1.9% 8%
e 14. 5% 17. 3% 23. 1% 12. 5% 14. 7% 8. 4% 4.3% 1.7% 9%
800~1000 | 10005 | A %
FRKE | wuk R &t
B i) ) 7. 5% 100. 0%
B 4% 1.5%  100.0%
a5t 4% 2% 1.9%  100.0%
F7_2 E{BEFDFEIN
1005 M [ 100~200 | 200~300 | 300~400 | 400~500 | 500~600 | 600~700 | 700~8007
HL # FAk#E | FAKE | FAkE | sAkE | sOks | sOkE | AxE
Elm T. 0% 2. O 6% 9. o T6. D% 20. 0% T6. D% 2. 1% 7.6%
BT 1.4% 1. 4% 11. 6% 21. 4% 17. 2% 16. 7% 8. 8% 3. 7%
&% 1.6% 1.1% 1.1% 10. 7% 19. 3% 18. 8% 16. 6% 10. 5% 5. 4%
800~1000 | 10005 M [ Hm %
FRk#E | wur L a5t
2. D% T. 0% 700 100.0%
6. 5% 6. 0% 5.1% 100 0%
4.8% 4.3% 5.9% 100 0%




